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3 100kN/mM#Z#BZ % 1.00/0.00 ~ 293 146.49(3m%EB23| - ~ - - -| 100kN/MZ# 2% 1.00| 10.68 ~ 29.31 146.49|3m%#8 x5 -~ - - -
Zh LS 1.00/ 293 ~ 10.72 100.00f #hLlst [0.00 ~ 10.72| 2.94 15.72 Zh st 1.00] 500 ~ 10.68 100.00f ZhList [ 500 ~ 2931 2.94 15.72
4 100kN/mM#Z#BZ % 1.00/0.00 ~ 2380 144.32(3m%EB23| - ~ - - -| 100kN/MZ# 2% 1.00| 10.76 ~ 28.49 144.32|3m%#8 x5 -~ - - -
Zh LS 1.00/ 2.80 ~ 10.59 100.00f #hrist [0.00 ~ 1059 291 15.58 Zh st 1.00] 500 ~ 10.76 100.00f #hList | 500 ~ 2849 291 15.58
5 100kN/mMZ#BZ % 1.00/ 000 ~ 1.70 126.10{3m%#z25| - ~ - - -| 100kN/MZ# %% 1.00| 10.74 ~ 16.53 126.10|3m%# x5 -~ - - -
Zh LS 1.00/1.70 ~ 949 100.00f #hList [000 ~ 9.49] 249 13.32 Zh st 1.00] 500 ~ 10.74 100.00f ZhList [ 500 ~ 1653 2.49 13.32
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Zh LS 1.00| 2.26 ~ 10.04 100.00| #hList [0.00 ~ 10.04] 235 12.57 Zh st 1.00] 500 ~ 1054 100.00f ZhList [ 500 ~ 19.90[ 2.35 12.57
7 100kN/mMZ#BZ % 1.00/0.00 ~ 088 113.203m%#z23| - ~ - - -| 100kN/MZ# 2% 1.00| 11.07 ~ 1422 113.20|3m%#x % -~ - - -
Zh LS 1.00/ 088 ~ 867 100.00f #hLlst (000 ~ 8.67| 2.04 10.92 Zh st 1.00| 500 ~ 11.07 100.00| #hLlst | 500 ~ 1422 204 10.92
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